

① $f(x) = \frac{1}{x-2} - 1 \rightarrow f(x+1) = f\left(\frac{1}{x}\right) - 1$

$\underbrace{x^2}_{\leq 0} \underbrace{(2^{1-x} - 1)}_{\geq 0} \geq 0$
 $\underbrace{2^{1-x}}_{\geq 1} - 1 \geq 0 \rightarrow 2^{1-x} \geq 1 \rightarrow 1-x \leq 0 \rightarrow x \leq 1$

$D_f = \mathbb{R} - \{0, 1\}$

② $f(x) = \sqrt{x + |x+2|} \rightarrow f(-x) = \sqrt{|1-x| - x}$
 شرط

10 $|1-x| - x \geq 0 \rightarrow 1-x \geq x \rightarrow 1 \geq 2x$

$x-2 \geq x \rightarrow 2 \leq 0 \rightarrow$ غیغنا
 $D_f = (-\infty, +1]$

15 $y = \sqrt{\frac{x-1}{f(x)}}$
 بازه‌های: $-4, 2, 3$
 $\frac{-4}{-} + \frac{1}{0} - \frac{2}{-} + \frac{3}{+} =$

$\frac{x-1}{f(x)} \geq 0 \rightarrow D_f = (-4, +1] \cup (2, 3)$

20 $9x^2 - 4x^2 - x^2 - 4x - 4 + 1 \rightarrow$ ④

$\frac{-x^2 - 4x - 4}{-(x+2)^2} \left(\frac{9x^2 - 4x^2 + 1}{(3x^2 - 1)^2} \right) \sqrt{-(a+b)} =$
 $\sqrt{c} \geq \frac{1}{2}$

25 $(3x^2 - 1)^2 - (x+2)^2 \neq 0 \rightarrow x+2 \leq 3x^2 - 1$

$3x^2 - x \leq 3 \rightarrow 3x^2 - x - 3 \leq 0$

$3x^2 - x - 3 \leq 3x^2 + ax + b \rightarrow b \leq -3, a \leq -1$

$$f(x) = x^2 + x \quad y = \sqrt{f(x) - f\left(\frac{f}{2}\right)} \quad (a)$$

$$f(x) - f\left(\frac{f}{2}\right) \geq 0 \rightarrow f(x) \geq f\left(\frac{f}{2}\right)$$

$$x^2 + x \geq \frac{f^2}{x^2} + \frac{f}{2} \rightarrow x^2 - \frac{f^2}{x^2} \leq x - \frac{f}{2}$$

$$\left(x - \frac{f}{2}\right) \left(x^2 + \frac{14}{x^2} + x\right) + x - \frac{f}{2} \geq 0 \quad x_2 = 2$$

$$x^2 + \frac{14}{x^2} + x + 1 \geq 0 \rightarrow \frac{(x^4 + 14 + \omega x^2)(x - \frac{f}{2})}{x^2} \geq 0$$

رابطه زیر را از دسترس خارج می‌کنیم

$$\begin{array}{c} -2 \quad 0 \quad +2 \\ | \quad | \quad | \\ - \quad + \quad - \end{array} \quad D_f = (-\infty, 2] \cup [2, +\infty)$$

$$f(x^2 + x) = 1x^2 - 1 \rightarrow f(1) + f(1) \leq x^2 + x \leq 1$$

$$x \leq 1 \rightarrow 1 \times 1 = 1 \leq 1 \quad f(1) + f(1) \leq 1$$

$$x^2 + x \leq 1 \rightarrow x \leq 1 \rightarrow 1 \times 1 = 1 \leq 1$$

$$f(x) = x^2 - 4x^2 + 12x \quad (b)$$

$$f(\sqrt[3]{x} + 1) = (1 + 1 + 4\sqrt[3]{x} + 12\sqrt[3]{x}) - 4(\sqrt[3]{x} + 1 + 2) + 12(\sqrt[3]{x} + 1) = 10$$

$$g(x) = x^3 + 9x^2 + 25x$$

$$g(\sqrt[3]{v} - 3) = (v - 2v - 9\sqrt[3]{v} + 25\sqrt[3]{v}) + 9(\sqrt[3]{v} - 3 - 4\sqrt[3]{v}) + 25(\sqrt[3]{v} - 3) = v - 2v - 2 = -v - 2$$

$$f(x) \leq \sqrt{(x-\varepsilon) + \varepsilon \sqrt{x-\varepsilon}} + \varepsilon$$

①

$$f(x) \leq \sqrt{(\sqrt{x-\varepsilon} + 1)^2} \rightarrow f(x) \leq |\sqrt{x-\varepsilon} + 1|$$

$$g(x) \leq \sqrt{(x-\varepsilon) - \varepsilon \sqrt{x-\varepsilon}} + \varepsilon \rightarrow g(x) \leq |\sqrt{x-\varepsilon} - 1|$$

$$f(x) + g(x) \leq a + b\sqrt{x+c} \xrightarrow{[1,1]} \sqrt{x-\varepsilon} + 1 + 1 + \sqrt{x-\varepsilon} - 1$$

$$10 \quad -\sqrt{x-\varepsilon} \leq \varepsilon \xrightarrow{x \geq 1} \sqrt{x+\varepsilon} + 1 + \sqrt{x-\varepsilon} - 1 \leq 0 + 1x$$

$$\sqrt{x-\varepsilon} \rightarrow 0 + 1\sqrt{x-\varepsilon} \geq a + b\sqrt{x+c} \rightarrow$$

$$\frac{a+b}{c} \leq \frac{0+1}{-2} \leq \frac{-1}{2}$$

$$x^2 - \varepsilon x + 1 + 0 \rightarrow (x-1)(x-1) \neq 0$$

②

$$\frac{-1}{2} \leftarrow x+1$$

$$\frac{x^2 - \varepsilon x + 1}{1, 2}$$

$$f(1) = -2$$

$$f(0) = \frac{1}{2}$$

$$\frac{g}{f} = \left\{ \left(1, \frac{1}{2} \right), (0, 4) \right\}$$

$$f(x) \leq \left\{ \left(\frac{1}{2}, 2 \right), (1, 0), (-1, -1), \left(\frac{1}{2}, 4 \right) \right\}$$

⑩

$$f(x^2) \leq \left\{ (1, 2), (\sqrt{3}, -1), (-\sqrt{3}, -1), (1, 4) \right\}$$

$$19g^2(x) + 1 \leq \left\{ (-2, 19), (1, 23), (2, 9), (-1, 1) \right\}$$

$$\frac{2f}{g} \leq \left\{ (1, -2), (2, -1) \right\}$$